LOSUNG zu 1-0012/JBQH

Berechne den fehlenden Wert.

a) 48 % von 25=12
d) 75 % von 28=21

Aufgabe 4

Setze die richtigen Rechenzeichen ein!

a) 51 - 86 + 32 = 4418
d) 100 — 25 -4 =0

Viel Erfolg!

b) 58 % von 100=58
e) 0 % von 100=0
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Name: Klasse:
Aufgabe 1
Berechne.
D - Teo [ a0 [s0] P+ T2 [ 60| 54

80 11 40 0 9 35 78 63

84 15 44 4 11 37 80 65

98 29 58 18 18 44 87 72
Aufgabe 2
Setze die richtige Zahl ein.
)14 =72 D)2l =73 )8=1-8 416 =82
¢)32=4-8 £) 80 = 8- 10 ) 48 =6 -8 h) 48 = 8- 6
)2=1-2
Aufgabe 3

¢) 10 % von 90=9

f) 55 % von 100=55

b) 27-2 — 16 = 38
¢) 282 — 21 = 35

)98 —29-3 =11

f) 87 - 36 + 18 = 3150
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Quick:
7784

Quick:
7055

Quick:
5381

Quick:
5003



